THEFE EAMNSFFRATAR
5§77 @éﬂd\ﬂ%%ﬁ?ﬁﬁ%’%?%}/ \L—R—ILE R KRS
FEITIL—TERUVEREREE

6H22A (1)
T 18 Ao+ SH-BEEUEHEE ¥ 3# ca—+ BETEWAEE
1 1& B 2] ¥ KBR # b4 T BHE 9 e—
25 - 21 25 - 14
—_ A 2|25 - 23|0 2025 - 19| 0 I =
2 KX & m KR % B g EER 10
[25 - 22] [25 - 23}
2l 25 - 180 2|25 - 210
_ A3 — — C3 _
— 3 1R X X EF RER HE T EEARE 11 —
25 - 20 27 - 25
_ A 2|25 - 12| 0 2029 - 27| 0 02 e
4 %= k:: T ¥ HBR 1= M = B ERBE 12

£ 2 # Ba—t+ FTHSEELAEE £ 44 DI+ BETEASE

5K 9 I £ 8 B KX9oR ta i) g (R RIFE 13 —
33 - 31 25 — 22
— B 2025 - 15|0 2| 25 - 20| 0 D1 N
6 X #t I a2 R&HR & = I ¥ KBE 14
[25 - 22] [25 - 20]
2|25 - 21| 0 2|25 - 160
_ B3 p— — D3 _
e ] || A ] T ERER i) R HBE 15 —
25 - 17 23 - 25
— B2 2|25 - 13/ 0 225 - 20| 1 02 N
- 25 - 18
8 A il E ¥ ERAR H @l = e =R 16

REBN—F AU

EH,ERXIEAEE SETRATE S5y BRI XEAEE S5y BRI XL AEE
6A22R8(1) 6A23H(AH) 6A228(%)
&
= & muss] - # - sle & m x[uan|
25 - 15) = (25 - 16
2|25 - 21fo0 = 2|25 - 20| 0
- 7 B2 C -
A3 = =h =1 k=
x5 m|xen|2 v & olB m oz k|=en
14 - 25 = B3 25 - 23)
2127 - 25[1 x 2126% - 24(1
25 - 21 #® -
[x # T &[san|s S 6 2 - oF X X &|wma
2[28—26]0 IElE (19 - 25
p” - 2|25 - 22| 1
BE I a=$ﬂ?—| 4 D4 EI..,*L 25 - 21
25 - 12 28 - 26 -
2[27 - 25/ 0 AZ 2[23 - 3(ﬂ1 : 11|ﬁ§= [ IElEUﬁL'?—l
- A2 25-22 25 - 17
|¢$ o *&l&ﬁlﬁ%% 5 — 2[25‘17]0 — 12|J|| S Ilﬁﬁﬁ%;%
25 - 19) . 25 - 20
2l 25 - 22| 0 B 2|25 - 14] 0
-7 _
EEEELLE = ) gy = 13|78 | spe
5 - 13 ALNNETEEER ERBR) | 0l s
2125 - 210 StMMIREE L (AR | |21 29
ENENEEEDE St EEEHELH (EER) 148 | e




